Noteguide for How Far

	x 
- displacement 
(m)

vi 
- initial velocity 
(m/s)

vf 
- final velocity
 
 (m/s)

a 
- acceleration 

(m/s/s)

t  
- time 


(s)
	vf = vi + at

x = ½(vi + vf)t

vf2 = vi2 + 2ax

x = vit + 1/2at2


Example 1:
A car goes from 14 m/s to 26 m/s in 300. m.  

· What is the acceleration, and 

· What time does it take?

Example 2:

A rocket going 3130 m/s accelerates at 0.00135 m/s/s for a distance of 5.50 x 109 m.

· What time does it take, and 

· What is the final velocity?

